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. (10%) Let F =2£+———+[ ws®} ds. Find F” d F*(z).
(10%) Let F' (x) Tt ), cos {ms®} ds. Find F'(z) an (z)

. {16%)
(a) Find the Taylor series of f (2} =sin(z) at z = 3.
£ — sinz®

(b) Evaluate };1_13(1} o

. {20%) Evaluate the following integrals.

. b oD 1
* cog xd b ——dx
{a) /u e* cos xdz {b) /_mm2+2x+5

o0 3"’
. {14%) Find the interval of convergence for the power series Z; (5z — 1)™.

a=l1

. (12%) Find the area of one leaf of the three-leaf rose r = sin 3¢.

FE
(14%) Evaluate the iterated integral f ) / " sin {z?) dzdy.
a ¥

(14%) A bike is traveling west at 20 km/h and a car is traveling north at 80 km/k. Both
are headed for the intersection of the two roads. At what rate are the bike and the car
approaching each other when bike is 30 m and car is 40 m from the intersection?

€

bike

EN- R A




